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Ведомость репрезентативных лесных участков 
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1 6 1 31,6  Болото        

2 6 7 11,9  Болото        

3 6 8 8,5 1 6Б2ОС1ОЛс1Ивд 50 17 18 ОС. 3 1280  

4 6 19 6,7  Болото        

5 6 38 2,5 1 6Б4ОЛс 45 16 16 ОС. 3 280  

6 6 15 1,3 1 6Б2ОС2ОЛс+Ивд 50 17 18 ОС. 3 200  

7 6 17 1,2 1 5Б3ОЛс2ОС 45 16 18 ОС. 3 130  

8 8 8 20,1 1 6Б2ОЛс2ОЛч+ОС+Ивд 45 16 16 ОС. 3 2810  

9 8 25 1,7 1 6Б3ОЛс+Ивд 5 3 2 ос.-тр. 2 20  

10 15 13 23,2 1 4Б4Ивд2ОЛс+ОЛч 40 13 14 
бол.-
л. 

3 1390  

11 17 5 2,9 1 6ОЛс3Ивд1Б 30 11 14 ос. 3 140  

12 17 43 1,0 1 6ОЛс2ОЛч2Б+Ивд 20 10 10 пап. 2 60  

13 17 1 24,8 1 4Б3ОЛч3Ивд+ОЛс+ОС 35 13 16 ос. 3 1490  

14 17 15 26,6 1 6Б2ОЛс1ОЛч1ОС+Ивд 40 15 16 ос. 3 2390  

15 17 47 11,9 1 6Б2ОЛс1ОЛч1ОС+Ивд 40 15 16 ос. 3 1070  

16 17 14 0,2 1 8Б1ОС1ОЛс 20 10 10 ос.-тр. 2 10  

17 28 13 7,4  Болото        

18 8 2 30,0 1 5Б3Олч2Олс+Ос+Ивд 40 16 16 Ос-тр 2 4200  

19 8 5 19,6 1 6Б3Олс1Олч+Ос+Ивд 45 17 16 Ос-тр 2 2940  

20 8 16 23,3 1 7Б3Олч+Олс+Ивд 40 13 14 ос 3 1400  

21 52 29 14,7 1 5Д3Яс2ОЛс+ОС+Б 70 21 24 кисл. 2 2790  

22 53 15 17,0 1 1ОС 60 13 16 баг. 4 2890  

23 53 5 4,7 1 5С3Е1Б1ОС 70 23 26 орл. 1 1360  

24 53 45 1,4 1 5Б4ОЛс1ОЛч+С 40 14 16 ОС. 3 170  

25 54 4 7,4 1 8ОЛс1Б1ОС+Ивд 35 16 14 сн. 2 1040  

26 67 4 13,0 1 8С2Б 50 9 10 баг. 4 1040  

27 67 6 6,6 1 6Б2ОЛч2С+ОС 45 17 18 дм. 2 1060  

28 85 2 19,7 1 7Б3ОЛс+ОС+ОЛч+Ивд 15 6 8 ОС. 3 390  

29 86 21 17,5 1 3Б3ОЛч2ОЛс+С+Е 45 19 18 ос.-тр. 2 3150  

30 86 6 1,3  Болото        

31 86 12 3,6 1 5ОЛс3Б2ОЛч+ОС 40 16 16 пап. 2 430  

32 86 15 4,3 1 5ОЛч3Б1ОЛс1С 40 19 18 пап. 1 820  

33 9 4 7,4 1 6Б2Олс2Ос+Ивд 40 14 16 Ос-тр 3 810  

34 9 8 1,6 1 7Б2Ос1Олч+Олс+Ивд 60 18 22 ос 3 310  

35 9 12 2,6 1 5Олс3Б1Ос1Олч+Ивд 35 12 14 ос 3 260  

36 9 15 11,5 1 5Б2Ос2Олс1Е+Ивд 60 17 20 ос 3 1840  

37 39 7 42,4 1 10С+Б 60 11 12 баг 4 5940  

             

итого 433,1    

 

 

 


